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Some questions must be answered with a cross in a box X. If you change your mind about an
answer, put a line through the box £ and then mark your new answer with a cross [X.

SECTION A:The Physical Environment
Write your answers in the spaces provided.
You should aim to spend no more than 30 minutes on this section.
1 (a) Study Figure 1 which shows a cross section through a tropical cyclone.
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(i) Identify feature A.
(1)

A Cloud bank

B Eye

O 0O|d

C Converging air

O

D Sinking air

(i) State one characteristic of a tropical cyclone found at B.
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(b) State two factors that result in the formation of tropical cyclones.
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(d) Study Figure 2 which shows the Khurdopin Glacier in northern Pakistan, 2017.
Figure 2
Suggest two reasons for the occurrence of glacial ablation (melting) in Pakistan.
(4)
e
2 e e e

P 5 8 9 9 3. A0 4 2 0




(e) Explain the processes leading to the formation of the Himalayan fold mountains.
(6)
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(f) Assess the possible environmental impacts of exploiting a named non-renewable
energy resource in Pakistan.

Named non-renewable energy reSOUICe ...

(Total for Question 1 = 25 marks)

TOTAL FOR SECTION A =25 MARKS
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SECTION B: The Human Environment
You should aim to spend no more than 30 minutes on this section.
2 (a) Study Figure 3 which gives information about the value of remittances to Pakistan
in 2015.
Remittances
Saudi Arabia
United Arab Emirates $5.6 billion
$4.2 billion
United States
$2.6 billion
%ﬁeﬂ Kingdom
$2.3 billion
‘;Q'Eulf Cooperation
Council
$2.1 billion
t
(Source: https://tribune.com.pk/story/920286/pakistan-pockets-
remittances-amounting-to-18-4b/)
Figure 3
(i) Identify the total value of remittances.
(1)
L] | A $18.8 billion
L1 | B $17.8 billion
L] | € $16.8 billion
L] | D $15.8 billion
y,
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(ii) Define the term remittances.
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(d) Study Figure 4 which gives information about Pakistan’s railways.

@ Total length of railways @

2000 2016

37% drop in 43% reduction in 25% reduction in
freight wagons passenger traffic locomotives

(Source: © MIT Technology Review Pakistan)
Figure 4
Suggest reasons for the reductions in:
1. passenger traffic

2. the number of freight wagons in the years 2000 to 2016.

passenger traffic
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(e) Explain the impact of globalisation on Pakistan.
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(f) Evaluate the impact of regional disparities on the economic development of
Pakistan.

(Total for Question 2 = 25 marks)

TOTAL FOR SECTION B = 25 MARKS
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SECTION C: Challenges for Pakistan
Write your answers in the spaces provided.
You should aim to spend no more than 30 minutes on this section.
3 Study Figure 5 which shows trends in the Human Development Index (HDI) for three
countries, 1980-2015.
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(@) (i) Identify the HDI value for Pakistan in 2000.

(1)
L] | A 040
]| B 042
]| C 044
[] | D 046

(ii) Calculate the difference in the HDI values for Pakistan and India in 2015.
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(c) Study Figure 6 which shows subsistence agriculture in a rural area of Pakistan.

(Source: © Xinhua / Alamy Stock Photo)
Figure 6

Suggest two reasons why subsistence agriculture creates challenges for rural
communities in Pakistan.
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(d) Explain why a rising sea level is a problem for Pakistan.
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(e) Different strategies have been used to deal with the challenges of living in
megacities.
Evaluate the strategies used in one named megacity in Pakistan.
Named MeGACITY ...
(8)
(Total for Question 3 = 25 marks)
.
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TOTAL FOR SECTION C =25 MARKS
TOTAL FOR QUESTION PAPER =75 MARKS
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